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2 a. Design an ER dkdn for company datatrry&ith atleast four entities. (08 Marks)
b. Define the follgwiitg with an example ,fur1'

i). Weffif$V tWe ii) Particigat6n constraints iii) Cardinality ratio
iv) Re,fuivErelationship. \ - 

(08 Marks)
c. whfiililffi;ffit';iiirru'4S it is helntul with@ample. (04 Marks)tu?" ,{bY*J mh.T'

3a.Whatismeantbyinte6fui;H,"-ffi#ft+importancgseferentialintegrity
constraint. How refereffi*nteglity constraint4tffiplemented in S@2 (08 Marks)

b. Explainwith examples*ffi6Ql : ^t\* ^ 
eu' 

D 5;r.i'ffi;fr''? 
*""t 

Detete.@a iii) u@commano. (06Marks)

c. Discussvariou*@\sofinnerjoinory|Ffls. qp" (06Marks)

% $"o* ^*d4 a. Write thorelfitional algebra oe#.4i# to perrorm"tffiBuowing queries :

i) Retri*. the name and g$ie$ of all emploVoqlvho work for the "Accounts"

Saitment. {\ int{Ctailment. ,i'h t'
i1 -,n&ieve the nur.so"bhployees who#Me no dependents.
jt$ Find the names ofpffiloyees who wqflcon all the projects controlled by department

..fq!,{ffi
,^ _,,., number2. f\ f 

L J *,'Y 
(12 Marks)

b:JiOescriUe the steffidfbn aborith- F. ER. - to - Relational mapping. (08 Marks)

-*- J*- {f
*' T/ fiN"o"t"+5 a. How are ttfteis and assertions defined in SQL? Explain. (08 Marks)

,.,;h ry' (o6Marks)
W

b. How are views created and,$rffpped? Explain how the views are implemented and updated.

ftomJDBC?

OR

(08 Marks)
(04 Marks)c. What is SQLJ? How
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Fifth Semester B.E. Degree ExaminaffiDec .20241 Jan.2025

Data base Managen\ffie5ystems
a.J&_t

Time: 3 hrs. & r aMax. Marks: 100*'%" *s
Note: Answer any FIVE full qaestions, ffi#, ONE fult questionffi each module.

.x$ -.d!4,E!e-r. ,,c.ts
a. Discuss the main characteristicffi(@ database approach. tr{gtpdoes it differ from traditional

file systems? ,*S.e ' YS (08 Marks)IUe Systeilrs f ,l\ \rr rs4 (Ud IYIaTKS/

b. With neat diagram, explaip thft€ schema architecture* @ (06 Marks)
c. What are the aiff.i.rtiffi$fhatabase end users?ffiurss the main activities of each.

. ,k Lfl fl*, (06I
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6s.
b.

c.

7a.
b.
c.

"ShY
With an example, explain stored procedures in SaI-hm\$ (06 Marks)

Draw and explain three - tier aichitecture and tedftffigy relevant to each tier. Write the

advantages oitht." - tier architecture. 6fr-Y - , I9:,yi:i:ladvantages of three - trer archtecture. rt*
What are the components of the JDBC arc$i;effie? Describe four different architecture

alternations for JDBC drivers. "ru .{\. (08 Marks)- "r .d^

{ qE&
r.f 4" ro ,n A n d. ,-rvromiyn ffiv

Define Normal form. Explain tNF ,-zffia :xF with suitable eapm$le. (91y*I']
Write an algorithmto find the clo6Sdffi'X' and 'F''. - ;* . 

(06 Marks)
wItlg all altBurILt[ll LU ruru lrrv vrvFsv.il^ '^

Explain unf t*o informal qua[bffiS$ures employed for a;@nal schema design'

fl\m* p' (o6Marks)

8 a. Explain the 4NF *ithdl?*h{b,lo"*n,.1* aS (08 Marks)

b. Write an algorithm foffiSfi"g non additive join pffiity. (08 Marks)

c. Explain Armstroqg$Sffince rules- ,( t (04 Marks)

tuW *h
" "^b' vros,xu*s

9 a. Why concgffiy control is needed? Deffidstrate.with an example. (10 Marks)

b. Discus $6iThdt properties of a da@ba$e transaction (04 Marks)

;. nirffi&txDo a;rd REDO Sq}&o* and the recov-ffichniques that use eaeh.
- -,,e& 

4.*6 .r' _.,ui,ff 
' (06 Marks)

a. Why concgg@icy control ls lloodod'r

b. Discus I& re@iD properties of a da$

t0 a. Discuss Two - Phase f.ffit.rhnrque;;."dffib.lrcy control. 6Sr* (10 Marks)

b. ExplaintransactionsuffisinSQL. ffi*- { (06Marks)

c. Explain how shadowpiflrg helps to recE*ffim transactioffiure. (04 Marks)

dy #.' *. 
@'

-e&*db ^isw .dP *.#\ * '.,b-' r.)v,S&W!S /Jq. * '-rP*j
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